Pi Mu Epsilon

Problem of the Month

January 2007
In the Forbidden Forest (a large dark forest to the east of Hogwarts Castle) there are three grand oaks whose ages total exactly one thousand years.  When the youngest tree has reached the age of the middle tree, the middle tree will be the age of the oldest tree and will also be four times the current age of the youngest tree.  Determine the age of each tree without resorting to magical tricks.  
Problem of the Month Rules:

· Submissions must be dated; only the last submission will be graded.
· Submission must include a complete mathematical justification along with the answer.
· Submissions may only be made by individuals or groups of two.

· Submissions for this problem are due before 5 p.m. on January 26, 2007; they may be given to Dr. Leigh Lunsford (Ruffner 346), Dr. Phillip Poplin (Ruffner 329), or Dr. David Shoenthal (Ruffner 344).
Pi Mu Epsilon Problem of the Month website: http://www.longwood.edu/staff/shoenthaldw/potm.html
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